The shapes we will be combining will be squares, rectangles and triangles.

Area

Area of a rectangle
Area of a triangle

= length x length

= length X breadth

= 1 base x perpendicular height
2

of a square

Here the units for area are mm?, cm?, m? and km?.

Example. Find the area of the compound shape.

A=Ix]

A=Ixb

A= 1xp
2

X h

Total area = area of square + area of triangle
Area of a square = [x] = 8x8 = 64 m?
8m Area of a triangle = %Xth = %X5><8
= Bx4 = 20m?
u Total area = 64m> + 20 m? = 84m?
8m Sm
Find the area of these compound shapes.
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